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’ 100 25 27

2 3

25 25

3 > Pb=x—| and P, =x| —
drdda P, (27) s (27j

P +P,+P, =1014500
2 3
X| é + x| é +Xx é =1014500
27 27 27
2
X é 1+£+ é =1014500
27 27 \27
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X 25 2029 =1014500

277 729

oliel o 1014500%27x729
25x2029
€25 sHIl 5% 31. 393660

ysdd @y = 31. (3,93,660 x 3 —1014500)
=31. (1180980 —1014500)
£35 sl 254 =31.1,66,480.

r_
h(-' CasRl wala asil 9.4

1. 21 a5 As3el 31, 166140 18q1 vled] auid A5 31.400 i ousll 254 3 4w
245 sHIIHE Y5a9] 49 € R Yl £ UM % €l 2 A1y £20 WA AAloNg 14,
al sHi-ll 254 aulyl.

2. 25 qllEior Hallw A53¢l 31. 15,000 218qr wed] avid 3i. 2000 1531 244 6 #ul 24N s
SHL Y5l M9 . 9 A1l €2 AUls 167 €ld 2 A1 €2 €9 HiA HAlog €ld dl sHi-]
254 4l

3. Us1d 2s 519y eHl ugladdl st 31 1512.50 2uyld aal 30, 8788 1l As Hal 8 [FHIHs
sH1el] vidle] oA ol €2 U5 167 217 1y PLHildls dalany 512yl 2158 Bud a4l ol
$d Ay 324 Y599 d Alkl.

4. 25 51270,000 2Us3el] 28 ved] quid Asst 31. 21200 247 218 4Ry N5 sl 49 &
o Quidl lds w1 255 SR 2 AUy Ulds 44 nYd) €35 sHi-l 254 A4,

5. 25 wdsilda siad viled] quid sst 3. 2800 24 3i. 2420 il A5 AU 2 qRv U5 sHl
21] vidlef A sHl Ugld Aol S50 ol dulis €2 104 27 2y duldls ddlong sld dl
Hiefsldardl :Ass F4a ulyl.

6

21 41l 89 AUlss UFAIAHI 2[5 Y5q8l] 537 247 ouSl] 254 SHIZIHI Y5l 52
GuR el 530 qrqg Uldiil GYRAL HIS S NY &9 .

sHL 1o videur Aldls (A 254 Ysd 9 ¥ ousl :8d ysasll uig ALy €.
Sl Alweil WRlewiR SHIXL Y599l 41 [RAAA 444 QUL HIS 614 54l HIS UG 13 €.
¥ [34d qzg “adl s14 i A Y2y 253 A5l AsaaHi 219 dl Al gl A58 Foa 56 9.

. SHL 4ol S8 vled] avid B AilAs A3 254 YsaUH] 2419 & A Hud] wiA A5 Y580 56 €.
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. ALSS gl ALS5A AMY UM U] Y] R5M SHIAHL $EAUY 9.

ollél

1. dlaaii 44l 31. 2600 2Us3el »aar viled] qrid ysadi Asst 3. 1000 24 3. 550 <

As Aal 3 RS dRvil sHL Ysqqiell Ml & dl SHL 4l S8U HISIRALME I LX) €2

alyl.
2. us19 31. 8000+ 253 [ 25 a1y A2 sHL dlo+il 54 AL 31. 3200 241 3110001

As Aal 5 qls 4l L 2YlA vidle €9 dl SHL dUU S8U HISIRAHI HIAE ALYl ER

a4l
3. s 2ud 31. 2000 215341 vadql wlsd] avid A5 500 2t 31, 400+ 215 Hdl 4 4vi

RS sHIAl dUUHT 219 € dl SHL dlF~il €A AISRAUMI 219 Al €2 UYL,

4. s dd] del A3 [54d 7500 2tgar 31. 2000 A58t 71 3. 1000+ 25 2iql 435 6
SHIE] MO &9 N il € £2 HIS HI5RAIHI 19 dl 35 Sidlil 54 U4,

5. 25 g 3. 700 U534l waal wled] avid Asst 31, 1900247 6 4 4Rvil HURAS SHL 1]
€9 dl SHL Lol S8U 2L51RAUHI U A¥+i] £ ALYl

6. s deg 3.1000 2As3ell vaar viled] avid 31. 650 As3L 2 S Al HilHSs sHiEll dALUHi
219 €9 9 ) €2 AUl 187 2512414( 219 dl AlBAs sHidl (R541) A8ai] 52,

7. 618 QR0 wellw+ll duig ST 31 14000 &9 Syl 21916l 31. 14000+ 41 Hiql 43wl
WlAs sHidll 2uqqri €14 & A 1wl §2 A5 127 sld dl sl dvar uldl.

8. 52522 31. 30,000 2132l 21aaqr quid 31.15,000 A5t 24 4 4wl HilAs sHiel] 44 &9

N\ ) Y 1 . Y "\ A NN
N SHL 4Ll S5U A%l €2 33§,~?Jil:$l~ZCIl"ll 119 dl €35 sHIll 5% lkl.

9. aHlq+l 5 wie 31.2,00,000 53¢l 2aal vled] qud 30.1,00,000 Uss 30.21,000+1
A5 A5 HlAs suiEl] 49 €9 dl SHL 41U 89 HISIRIAE %] €2 UYL,

10. 2Zlardl 215 2au-Hl [34a 3. 3575 A58 2891 vled] quid A5t 3. 1600 i 31
420711 A5 Al 5 4R SHL H1wl S50 2I51AAE ALYl £ UYL,

11. 215 adlaia-] [34d 31, 1000 Asst 21449t vled] avid 153t 3. 300 i 5 Hids sHiell
Qa9 dl A Al £ Ulds 18% sustuqudi 2ud dl Hulds sHidl 2544 A9a?] 53

12. 215 s12yeR 31. 34,000 Assidll 2aql vded] quid Asst 31, 20,000 244 5 Hilds suiel
Qi 2419 dl A Ay €2 AUl 307 2us1AUH] 219 dl sHidl 254 A9l 52

13. et 215 qlallor 49ll+ vided] avid 31. 4000 2 4 dvi s sHiell vile adl qlldiol
woll 5915 adlaal 54a 3. 1000 Asst »1aar vded] avid 580 31, 300 241 5 Hilas
sl 3. 15000 53¢l Hag sd. cHl 4ol S69 U1+l €2 dulis 18% Qv is5aHi
A1qdl €25 sHI] 54 AUlHl.

14. 215 Ao 511 ] 2A53¢l 34 970 »18a ved] quid A5t 31 210 244 3 4vi HilAs
sHl 1551 saudi 2ud A Ay €2 Uls 167 814, dl Wlds sy (sHi-dl 254) w4l

15. 215 215 gl A534l 34 970 218a1 vded] auid A53t 3. 350 214 3 Al HIAS
SHL 1551 5240 2Ud A Ay 62 Uls 24% €4, dl qilds sy (sl 254) al4l.

16. 215 215 A1ss g1 IS @R viled] quiad As3el [F4d 2750 214 31. 331+ A5 2l 21
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o€l

3 ARl HUlds sHL 58] s3] 2414 A Aol €2 s 207 sld, al IS Ayl s34l s
[34a altl.

17. 215 €1GRio dlaadl+ial] sde As3ell 34 31.2,00,000%4 212441 ved] quid Asst 31. 67600
21531 24 3 Huil wHUNs Al ¢ o yde sl Ao S89 veduHi 21 dl €35 sHI] 254
alYl.

18. g5t 12 g1y 215 2252 vded] quid 3. 11,000 st 3. 6250 il A5 2l 6 dvil Ul¥s
sl QAUH] 21y A -l Qs §2 257 €14 A Uy Als 4G sld,dl 252+l Ass
Q181 (34 20ltl.

19. 25 s slvyer A3l B4a 31. 78600 taal vwiled] avid 153t 31.25640 17 3 Al
Birifas 49 9 o Quizl curler duliis 207 211503 209 AU¥ER 219 HiH AN €14, dl 35
SHI-] 254 w4l

20. 215 olits14-1] sivgiser A5 3. 30,00,000 21aql viled] quid At 3. 10,31,600 47 3
vl Brudls sriell dudi] nSAd 52 & A 2w+l €2 AUlis 107 214 e =19 41 Hdlag
sld, dl sHL 4o S50 €25 sHItl 254l 28] 521, qoll s A1y ygL Ul

i n a1l waula AstAl-L s

9.1
1. 42.87% 2 44i 3.21 1 ¥4 4 171—7 5.4.69%
. 42.87x 445 2157 172 .4.69%
6. 51.1% 7.47.06%
9.2
200
1. 34000 5 3.30.775.77
4. 31.1934.55 4. 3. 77.6 @o1649,
9.3
1. 301150 2. 3..10,000 3. 3L.2500
4. 31.970 5. 3. 3580
9.4
1. 3.463.05 2. 3. 7290 3. 3..30,000, 3. 1976.50
4.3.25000 5. 307000
Ky i 2z gawi
1 19i7 2 1717 3 33l 4 33l
) 1% T2 333 333

diftic HIeARIS 2HGAIRISH



Hisyd - 2

aiféiva difeid

5. 31.920 6. 3..63.35 7.5 8. 3L. 4000

9. 20.7% 10.26.43% 11. 31.146.12  12. 31.3000

13. 31.2850.86 14. 31. 366 (£512) 15. 7220 16. 3. 6060 el
17.31. 53240 18. 3..20,000 19. 719448

20. 31. 689210, 3t. 99230
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